# Vítězslav Novák Operations on cyclically ordered sets

Archivum Mathematicum, Vol. 20 (1984), No. 3, 133--139

Persistent URL: http://dml.cz/dmlcz/107196

## Terms of use:

© Masaryk University, 1984

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

### ARCH. MATH. 3, SCRIPTA FAC. SCI. NAT. UJEP BRUNENSIS XX: 133-140, 1984

# OPERATIONS ON CYCLICALLY ORDERED SETS

VÍTĚZSLAV NOVÁK, Brno (Received October 10, 1983)

The aim of this paper is to define direct operations on the class of cyclically ordered sets and to show their basic properties. These properties are similar to those of cardinal (direct) operations on the class of ordered sets ([1], [2]).

#### 1. Cyclically ordered sets

Let G be a set, let C be a ternary relation on G, i.e.  $C \subseteq G^3$ . This relation is called a cyclic order on G iff it is

(1) asymmetric, i.e.  $(x, y, z) \in C \Rightarrow (z, y, x) \notin C$ 

(2) cyclic, i.e.  $(x, y, z) \in C \Rightarrow (y, z, x) \in C$ 

(3) transitive, i.e.  $(x, y, z) \in C$ ,  $(x, z, u) \in C \Rightarrow (x, y, u) \in C$ .

If G is a set and C is a cyclic order on G then the pair G = (G, C) is called a cyclically ordered set; the set G is called a carrier of G and denoted  $\mathscr{C}(G)$ , the set C is called a relation of G and denoted  $\mathscr{R}(G)$ .

A cyclically ordered set G = (G, C) is called a cycle iff the relation C is

(4) complete, i.e.  $x, y, z \in G, x \neq y \neq z \neq x \Rightarrow (x, y, z) \in C$  or  $(z, y, x) \in C$ .

A cyclically ordered set G is called *discrete* iff  $\Re(G) = \emptyset$ .

An isomorphism of a cyclically ordered set  $\mathbf{G} = (G, C)$  onto a cyclically ordered set  $\mathbf{H} = (H, D)$  is a bijective mapping  $f: G \to H$  with the property  $(x, y, z) \in C \Leftrightarrow$  $\Leftrightarrow (f(x), f(y), f(z)) \in D$ . Cyclically ordered sets G, H are isomorphic iff there exists an isomorphism of G onto H; we write in that case  $\mathbf{G} \cong \mathbf{H}$ .

Let us call a ternary relation T on a set G

(5) reflexive, iff  $(x, x, x) \in T$  for any  $x \in G$ ,

(6) antisymmetric, iff  $(x, y, z) \in T$ ,  $(z, y, x) \in T \Rightarrow x = y = z$ .

For any ternary relation T on a set G let us denote  $T^{=} = T \cup \{(x, x, x); x \in G\}$ .

**1.1 Lemma.** Let C be a cyclic order on a set G. Then the relation  $C^{-}$  is reflexive, antisymmetric, cyclic and transitive.

**Proof.** The reflexivity of  $C^{=}$  follows from the definition. Let  $(x, y, z) \in C^{=}$ ,  $(z, y, x) \in C^{=}$  and suppose that x = y = z does not hold. Then  $(x, y, z) \in C$ ,  $(z, y, x) \in C$  which contradicts the asymmetry of C. Thus  $C^{=}$  is antisymmetric. Let  $(x, y, z) \in C^{=}$ . Then either  $(x, y, z) \in C$  or x = y = z; in both cases it is  $(y, z, x) \in C^{=}$  and  $C^{=}$  is cyclic. Assume  $(x, y, z) \in C^{=}$ ,  $(x, z, u) \in C^{=}$ . If x = y = z, then necessarily x = z = u and vice versa. Thus we have only two possibilities: either  $(x, y, z) \in C$ ,  $(x, z, u) \in C$  or x = y = z = u. In both cases it is  $(x, y, u) \in C^{=}$  and  $C^{=}$  is transitive.

**1.2 Lemma.** Let T be a reflexive, antisymmetric, cyclic and transitive ternary relation on a set G. Then the relation  $C = T - \{(x, x, x); x \in G\}$  is a cyclic order on G.

**Proof.** Assume  $(x, y, z) \in C$ ,  $(z, y, x) \in C$ . Then also  $(x, y, z) \in T$ ,  $(z, y, x) \in T$ , thus x = y = z and this is a contradiction. Hence C is asymmetric. Let  $(x, y, z) \in C$ . Then  $(x, y, z) \in T$  and x = y = z does not hold. This implies  $(y, z, x) \in T$ , thus  $(y, z, x) \in C$  and C is cyclic. Let  $(x, y, z) \in C$ ,  $(x, z, u) \in C$ . Then  $(x, y, z) \in T$ ,  $(x, z, u) \in T$  and neither x = y = z nor x = z = u. As T is transitive, we have  $(x, y, u) \in T$ . Assume x = y = u; then especially x = u and we have  $(x, z, x) \in T$ . The antisymmetry of T then implies x = z so that x = y = z which is a contradiction. Hence  $(x, y, u) \in C$  and C is transitive.

With respect to 1.1 and 1.2 a pair  $\mathbf{G} = (G, C^{=})$ , where  $C^{=}$  is a reflexive, antisymmetric, cyclic and transitive ternary relation on a set G, could be called a cyclically ordered set.

#### 2. Sum and product

**2.1 Definition.** Let I be a set, let  $(\mathbf{G}_i; i \in I)$  be a family of cyclically ordered sets. Let  $\mathscr{C}(\mathbf{G}_i) \cap \mathscr{C}(\mathbf{G}_j) = \emptyset$  for  $i \neq j$ . The direct sum  $\sum_{i \in I} \mathbf{G}_i$  of this family is  $\mathbf{G} = (G, C)$ , where  $\mathbf{G} = \bigcup_{i \in I} \mathscr{C}(\mathbf{G}_i), C = \bigcup_{i \in I} \mathscr{R}(\mathbf{G}_i)$ .

**2.2 Lemma.** Let  $(\mathbf{G}_i; i \in I)$  be a family of cyclically ordered sets and let  $\mathscr{C}(\mathbf{G}_i) \cap \mathscr{C}(\mathbf{G}_j) = \emptyset$  for  $i \neq j$ . Then  $\sum_{i \neq j} \mathbf{G}_i$  is a cyclically ordered set.

Proof is trivial.

Especially, if  $I = \{1, ..., n\}$ , then the direct sum  $\sum_{i \in I} G_i$  is written as  $G_1 + ... + G_n$ .

**2.3 Remark.** Let  $(G_i; i \in I) = ((G_i, C_i); i \in I)$  be a family of cyclically ordered sets with  $G_i \cap G_j = \emptyset$  for  $i \neq j$ . Then the canonical insertion  $j_i : G_i \to \bigcup_{i \in I} G_i$  given by  $j_i(x) = x$  for  $x \in G_i$  is an isomorphic embedding of  $G_i$  into  $\sum_{i \in I} G_i$ .

**2.4 Definition.** Let  $\mathbf{H} = (H, D)$  be a cyclically ordered set, let  $(\mathbf{G}_i; i \in H) = ((G_i, C_i); i \in H)$  be a family of cyclically ordered sets. Put  $G = \{(i, x); i \in H, x \in G_i\}$  and  $((i_1, x_1), (i_2, x_2), (i_3, x_3)) \in C$  iff either  $(i_1, i_2, i_3) \in D$  or  $i_1 = i_2 = i_3$  and  $(x_1, x_2, x_3) \in C_{i_1}$ . Then  $\mathbf{G} = (G, C)$  is called an ordered sum of the family  $(\mathbf{G}_i; i \in H)$  and we denote it  $\mathbf{G} = \sum_{i=n}^{r} \mathbf{G}_i$ .

**2.5 Lemma.** Let  $\mathbf{H} = (H, D)$  be a cyclically ordered set, let  $(\mathbf{G}_i; i \in H)$  be a family of cyclically ordered sets. Then  $\sum_{i \in H} \mathbf{G}_i$  is a cyclically ordered set.

Proof. Denote  $C_i = \mathscr{R}(\mathbf{G}_i)$ ,  $C = \mathscr{R}(\sum_{i \in H} \mathbf{G}_i)$ . Assume  $((i_1, x_1), (i_2, x_2), (i_3, x_3)) \in C$ .  $\in C$ . If  $(i_1, i_2, i_3) \in D$ , then neither  $(i_3, i_2, i_1) \in D$  nor  $i_1 = i_2 = i_3$  and it is  $(i_2, i_3, i_1) \in D$ . In this case  $((i_3, x_3), (i_2, x_2), (i_1, x_1)) \in C$ ,  $((i_2, x_2), (i_3, x_3), (i_1, x_1)) \in C$ . If  $i_1 = i_2 = i_3$ , then  $(x_1, x_2, x_3) \in C_{i_1}$ , so that  $(x_3, x_2, x_1) \in C_{i_1}, (x_2, x_3, x_1) \in C$ .  $\in C_{i_1}$  and  $((i_3, x_3), (i_2, x_2), (i_1, x_1) \in C, ((i_2, x_2), (i_3, x_3), (i_1, x_1)) \in C$ . We have shown that C is asymmetric and cyclic. Let  $((i_1, x_1), (i_2, x_2), (i_3, x_3)) \in C, ((i_1, x_1), (i_3, x_3), (i_4, x_4)) \in C$ . If  $(i_1, i_2, i_3) \in D$ , then  $i_1 \neq i_2 \neq i_3 \neq i_1$  so that necessarily  $i_1 \neq i_3 \neq i_4 \neq i_1$ . Thus  $(i_1, i_3, i_4) \in D$ , the transitivity of D implies  $(i_1, i_2, i_4) \in D$  and from this  $((i_1, x_1), (i_2, x_2), (i_4, x_4)) \in C$ . If  $i_1 = i_2 = i_3$ , then also  $i_1 = i_3 = i_4$  and  $(x_1, x_2, x_3) \in C_{i_1}, (x_1, x_3, x_4) \in C_{i_1}$ . This implies  $(x_1, x_2, x_4) \in C_{i_1}$  and  $((i_1, x_1), (i_2, x_2), (i_4, x_4)) \in C$ . C is transitive and hence it is a cyclic order.

2.6 Remark. Let H be a discrete cyclically ordered set, let  $(\mathbf{G}_i; i \in H)$  be a family of cyclically ordered sets and let  $\mathscr{C}(\mathbf{G}_i) \cap \mathscr{C}(\mathbf{G}_j) = \emptyset$  for  $i \neq j$ . Then  $\sum_{i \in H} \mathbf{G}_i \cong$  $\cong \Sigma \mathbf{G}_i$ .

$$\cong \sum_{i \in H} \mathbf{G}_i$$

**2.7 Definition.** Let I be a set, let  $(\mathbf{G}_i; i \in I) = ((G_i, C_i); i \in I)$  be a family of cyclically ordered sets. Put  $G = \underset{i \in I}{\times} G_i$  and for  $x, y, z \in G$  let  $(x, y, z) \in C^{=}$  iff  $(pr_ix, pr_iy, pr_iz) \in C_i^{=}$  for every  $i \in I$ . Then  $\mathbf{G} = (G, C^{=})$  is called a direct product of the family  $(\mathbf{G}_i; i \in I)$  and it is denoted by  $\mathbf{G} = \prod_i \mathbf{G}_i$ .

Again, if  $I = \{1, ..., n\}$  then we write  $\prod_{i \in I} G_i = G_1 ... G_n$ .

**2.8 Lemma.** Let  $(G_i; i \in I)$  be a family of cyclically ordered sets. Then  $\prod_{i \in I} G_i$  is a cyclically ordered set.

Proof is trivial.

#### 3. Homomorphisms

**3.1 Definition.** Let G = (G, C), H = (H, D) be cyclically ordered sets, let  $f: G \rightarrow H$ . The mapping f is called a homomorphism of G into H iff it has the property:

$$x, y, z \in G,$$
  $(x, y, z) \in C^{\pm} \Rightarrow (f(x), f(y), f(z)) \in D^{\pm}.$ 

**3.2 Lemma.** Let  $(\mathbf{G}_i; i \in I) = ((G_i, C_i); i \in I)$  be a family of cyclically ordered sets, let  $G_i \cap G_j = \emptyset$  for  $i \neq j$  and let  $\mathbf{G} = (G, C) = \sum_{i \in I} \mathbf{G}_i$ . Then C is the least cyclic order (with respect to the set inclusion) on the set G for which all canonical

insertions  $j_i$  are homomorphisms of  $G_i$  into G. Proof. Evidently all  $j_i : G_i \to G$  are homomorphisms of  $G_i$  into G. Let D be any cyclic order on the set G with the property that all  $j_i$  are homomorphisms. If

any cyclic order on the set G with the property that all  $j_i$  are homomorphisms. If  $(x, y', z) \in C$ , then there exists  $i \in I$  with  $x, y, z \in G_i$ ,  $(x, y, z) \in C_i$ . Then  $(j_i(x), j_i(y), j_i(z)) = (x, y, z) \in D$  and thus  $C \subseteq D$ .

**3.3 Lemma.** Let  $(\mathbf{G}_i; i \in I) = ((G_i, C_i); i \in I)$  be a family of cyclically ordered sets and let  $\mathbf{G} = (G, C) = \prod_{i \in I} \mathbf{G}_i$ . Then  $C^=$  is the greatest cyclic order on the set G for which all projections  $p_i$  are homomorphisms of  $\mathbf{G}$  onto  $\mathbf{G}_i$ .

**Proof.** From the definition there follows that all projections  $pr_i$  are homomorphisms of **G** onto  $G_i$ . Let  $D^=$  be any cyclic order on the set G for which all  $pr_i$ are homomorphisms and let  $(x, y, z) \in D^=$ . Then  $(pr_ix, pr_iy, pr_iz) \in C_i^=$  for all  $i \in I$  which implies  $(x, y, z) \in C^=$ . Thus  $D^= \subseteq C^=$ .

**3.4 Definition.** Let G = (G, C), H = (H, D) be cyclically ordered sets, let  $f: G \rightarrow H$ . The mapping f is called a strong homomorphism of G into H iff it has the property:

$$(x, y, z) \in C \Rightarrow (f(x), f(y), f(z)) \in D^{=},$$
  
 $(x, y, z) \in C \Rightarrow (f(x), f(y), f(z)) \in D.$ 

For the purposes of the next theorem we now give an alternative definition of an ordered sum of cyclically ordered sets; namely, we need that ",summands"  $G_j$  were substructures of the sum  $G = \sum_{i=1}^{n} G_i$ .

**3.5 Remark.** Let  $\mathbf{H} = (H, D)$  be a cyclically ordered set, let  $(\mathbf{G}_i; i \in H) = ((G_i, C_i); i \in H)$  be a family of cyclically ordered sets with  $G_i \cap G_j = \emptyset$  for  $i \neq j$ . Put  $G = \bigcup_{i \in H} G_i$  and for  $x, y, z \in G$  let  $(x, y, z) \in C$  be equivalent with either  $x \in G_i, y \in G_j, z \in G_k$  and  $(i, j, k) \in D$  or  $x, y, z \in G_i$  and  $(x, y, z) \in C_i$ . Then the cyclically ordered set  $\mathbf{G} = (G, C)$  is called an ordered sum of the family  $(\mathbf{G}_i; i \in H)$  and is denoted by  $\sum_{i=n}^{j} \mathbf{G}_i$ .

**3.6 Theorem.** Let  $\mathbf{G} = (G, C)$ ,  $\mathbf{H} = (H, D)$  be cyclically ordered sets, let  $f: G \to H$  be a surjective mapping. For any  $i \in H$  let us denote  $G_i = f^{-1}(\{i\}), C_i = C \cap G_i^3$ ,  $G_i = (G_i, C_i)$ . Then the following statements are equivalent:

(A)  $\mathbf{G} = \sum_{i \in H} \mathbf{G}_i$ ,

(B) f is a strong homomorphism of G onto H.

Proof. 1. Let (A) hold and let  $x_1, x_2, x_3 \in G$ ,  $(x_1, x_2, x_3) \in C$ . Then either  $x_1 \in G_{i_1}, x_2 \in G_{i_2}, x_3 \in G_{i_3}$  and  $(i_1, i_2, i_3) \in D$  or  $x_1, x_2, x_3 \in G_i$  and  $(x_1, x_2, x_3) \in C_i$  $\in C_i$ . In the first case it is  $(f(x_1), f(x_2), f(x_3)) = (i_1, i_2, i_3) \in D$ , in the second one it is  $f(x_1) = f(x_2) = f(x_3) = i$ ; thus it is  $(f(x_1), f(x_2), f(x_3)) \in D^{\pm}$ . Let  $x_1, x_2, x_3 \in D^{\pm}$ .  $\in G$ ,  $(x_1, x_2, x_3) \in C$ . Then either  $x_1 \in G_{i_1}, x_2 \in G_{i_2}, x_3 \in G_{i_3}$  and  $(i_1, i_2, i_3) \in D^*$ or  $x_1, x_2, x_3 \in G_i$  and  $(x_1, x_2, x_3) \in C_i$ . In the first case we have  $(f(x_1), f(x_2), f(x_3)) =$  $=(i_1,i_2,i_3) \in D^{\pm}$ , in the second one  $(f(x_1),f(x_2),f(x_3))=(i,i,i)\in D$ . Thus, in both cases  $(f(x_1), f(x_2), f(x_3)) \in D$ , f is a strong homomorphism and (B) holds. 2. Let (B) hold. As  $G = \bigcup G_i$  and the sets  $G_i$  are pairwise disjoint, it suffices to prove  $C = \mathscr{R}(\sum_{i \in H}^{\cdot} G_i)$ ; denote briefly  $\mathscr{R}(\sum_{i \in H}^{\cdot} G_i) = E$ . Let  $(x_1, x_2, x_3) \in C$ . Then either  $(f(x_1), f(x_2), f(x_3)) \in D$  or  $f(x_1) = f(x_2) = f(x_3)$ . In the first case denote  $f(x_1) = i_1, f(x_2) = i_2, f(x_3) = i_3$ ; thus,  $x_1 \in G_{i_1}, x_2 \in G_{i_2}, x_3 \in G_{i_3}$  and  $(i_1, i_2, i_3) \in G_{i_3}$  $\in D$  so that  $(x_1, x_2, x_3) \in E$ . In the second case denote  $f(x_1) = f(x_2) = f(x_3) = i$ ; thus,  $x_1, x_2, x_3 \in G_i$  and  $(x_1, x_2, x_3) \in C_i$  so that  $(x_1, x_2, x_3) \in E$ . We have proved  $C \subseteq E$ . Let  $x_1, x_2, x_3 \in G$ ,  $(x_1, x_2, x_3) \in C$ . Then  $(f(x_1), f(x_2), f(x_3)) \in D$ . If  $f(x_1) = f(x_2) = f(x_3) = i$ , then  $x_1, x_2, x_3 \in G_i$  and  $(x_1, x_2, x_3) \in C_i$  so that  $(x_1, x_2, x_3) \in E$ . If  $f(x_1) = f(x_2) = f(x_3)$  does not hold, denote  $f(x_1) = i_1, f(x_2) = i_1$  $= i_2, f(x_3) = i_3;$  thus,  $(i_1, i_2, i_3) \in D^{-1}$  and  $x_1 \in G_{i_1}, x_2 \in G_{i_2}, x_3 \in G_{i_3}$  so that  $(x_1, x_2, x_3) \in E$ . Hence  $E \subseteq C$ , thus C = E and (A) holds.

#### 4. Power

**4.1 Definition.** Let  $\mathbf{G} = (G, C)$ ,  $\mathbf{H} = (H, D)$  be cyclically ordered sets. A power  $\mathbf{G}^{\mathbf{H}}$  is a set of all homomorphisms  $f : \mathbf{H} \to \mathbf{G}$  together with a ternary relation  $E^{=}$  defined by  $(f, g, h) \in E^{=} \Leftrightarrow (f(x), g(x), h(x)) \in C^{=}$  for all  $x \in H$ .

**4.2 Lemma.** Let G, H be cyclically ordered sets. Then G<sup>H</sup> is a cyclically ordered set. Proof is trivial.

**4.3 Example.** For any positive integer  $n \ge 3$  let *n* denote an *n*-elemented cycle, i.e.  $n = \{\{0, 1, ..., n - 1\}, \{(i, j, k); \text{ either } i < j < k \text{ or } j < k < i \text{ or } k < i < j, 0 \le i, j, k \le n - 1\}\}$ . Let  $m \ge 3$ ,  $n \ge 3$  be positive integers. Then it holds:

(a) if m < n, then  $m^n = m$ ,

(b) if m = n, then  $n^n = n + n$ ,

(c) if m > n, then card  $\mathscr{C}(m^n) = m + \binom{m}{n}$ .

Proof. (a) If m < n, then the only homomorphisms  $n \to m$  are constant mappings since if  $f: \mathscr{C}(n) \to \mathscr{C}(m)$  is not constant, then there exist element  $i, j, k \in \mathscr{C}(n)$  with  $(i, j, k) \in \mathscr{R}(n)$  and card  $\{f(i), f(j), f(k)\} = 2$  so that  $(f(i), f(j), f(k)) \in \widetilde{\mathscr{R}(m)}^{=}$ . Thus f is not a homomorphism.

(b)  $f: \mathscr{C}(n) \to \mathscr{C}(n)$  is a homomorphism of *n* into *n* iff either *f* is a constant mapping or there exists  $k \in \{0, 1, ..., n - 1\}$  such that  $f(i) = i + k \pmod{n}$ . From this the assertion follows.

(c) If m > n, then homomorphisms  $n \to m$  are constant mappings and the mappings of  $\mathscr{C}(n)$  on *n*-elemented cycles in *m* constructed analogously as in (b). As there are  $\binom{m}{n}$  *n*-elemented cycles in *m*, we have the desired equality.

**4.4 Theorem.** Let  $\mathbf{G} = (G, C)$ ,  $\mathbf{H}_1 = (H_1, D_1)$ ,  $\mathbf{H}_2 = (H_2, D_2)$  be cyclically ordered sets and let  $H_1 \cap H_2 = \emptyset$ . Then  $\mathbf{G}^{\mathbf{H}_1 + \mathbf{H}_2} \cong \mathbf{G}^{\mathbf{H}_1} \cdot \mathbf{G}^{\mathbf{H}_2}$ .

Proof. For any  $f \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_1+\mathbf{H}_2})$  denote  $f_1 = f|_{H_1}, f_2 = f|_{H_2}$  ( $f|_A$  denotes a restriction of the mapping f onto a set A). Evidently,  $f_1 \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_1}), f_2 \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_2})$  so that  $(f_1, f_2) \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_1} \cdot \mathbf{G}^{\mathbf{H}_2})$ . Conversely, if  $f_1 \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_1}), f_2 \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_2})$ , then  $f = f_1 \cup f_2 \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_1+\mathbf{H}_2})$  and  $f_1 = f|_{H_1}, f_2 = f|_{H_2}$ . This shows that the correspondence  $f \to (f_1, f_2)$  is a bijection of  $\mathscr{C}(\mathbf{G}^{\mathbf{H}_1+\mathbf{H}_2})$  onto  $\mathscr{C}(\mathbf{G}^{\mathbf{H}_1} \cdot \mathbf{G}^{\mathbf{H}_2})$ . But it is an isomorphism: if  $f, g, h \in \mathscr{C}(\mathbf{G}^{\mathbf{H}_1+\mathbf{H}_2}), (f, g, h) \in \mathscr{R}(\mathbf{G}^{\mathbf{H}_1+\mathbf{H}_2})^=$ , then  $(f(x), g(x), h(x)) \in C^=$  for all  $x \in H_1 \cup H_2$  which shows both  $(f_1, g_1, h_1) \in \mathscr{R}(\mathbf{G}^{\mathbf{H}_1})^=$  and  $(f_2, g_2, h_2) \in \mathscr{R}(\mathbf{G}^{\mathbf{H}_2})^=$  i.e.  $((f_1, f_2), (g_1, g_2), (h_1, h_2)) \in \mathscr{R}(\mathbf{G}^{\mathbf{H}_1} \cdot \mathbf{G}^{\mathbf{H}_2})^=$ . This consideration can be turned vice versa which proves the assertion.

**4.5 Theorem.** Let  $\mathbf{G}_1 = (G_1, C_1)$ ,  $\mathbf{G}_2 = (G_2, C_2)$ ,  $\mathbf{H} = (H, D)$  be cyclically ordered sets. Then  $(\mathbf{G}_1 \cdot \mathbf{G}_2)^{\mathbf{H}} \cong \mathbf{G}_1^{\mathbf{H}} \cdot \mathbf{G}_2^{\mathbf{H}}$ .

Proof. For any  $f \in \mathscr{C}((\mathbf{G}_1 \cdot \mathbf{G}_2)^{\mathbf{H}})$  denote  $f_1 = pr_1 f, f_2 = pr_2 f$ ; then  $f_1 \in \mathscr{C}(\mathbf{G}_1^{\mathbf{H}})$  $f_2 \in \mathscr{C}(\mathbf{G}_2^{\mathbf{H}})$ . One can easily show that the assignment  $f \to (f_1, f_2)$  is a bijection of  $\mathscr{C}((\mathbf{G}_1 \cdot \mathbf{G}_2)^{\mathbf{H}})$  onto  $\mathscr{C}(\mathbf{G}_1^{\mathbf{H}} \cdot \mathbf{G}_2^{\mathbf{H}})$  and, in fact, it is an isomorphism of  $(\mathbf{G}_1 \cdot \mathbf{G}_2)^{\mathbf{H}}$  onto  $\mathbf{G}_1^{\mathbf{H}} \cdot \mathbf{G}_2^{\mathbf{H}}$ .

**4.6 Theorem.** Let  $\mathbf{G} = (G, C)$ ,  $\mathbf{H} = (H, D)$ ,  $\mathbf{K} = (K, E)$  be cyclically ordered sets. Then there exists an isomorphic embedding of  $\mathbf{G}^{\mathbf{H}.\mathbf{K}}$  into  $(\mathbf{G}^{\mathbf{H}})^{\mathbf{K}}$ .

Proof. Let  $f \in \mathscr{C}(\mathbf{G}^{\mathbf{H},\mathbf{K}})$  be any element. Thus, f is a mapping of  $H \times K$  into G. Denote for any  $y \in K$  by  $f_y$  a mapping  $f_y : H \to G$  defined by  $f_y(x) = f(x, y)$ . We show that  $f_y \in \mathscr{C}(\mathbf{G}^{\mathbf{H}})$ . If  $x_1, x_2, x_3 \in H$ ,  $(x_1, x_2, x_3) \in D^=$ , then  $((x_1, y), (x_2, y), (x_3, y)) \in \mathscr{R}(\mathbf{H}, \mathbf{K})^=$  so that  $(f(x_1, y), f(x_2, y), f(x_3, y)) \in C^=$ , i.e.  $(f_y(x_1), f_y(x_2), f_y(x_3)) \in C^=$ . This means that  $f_y$  is a homomorphism of  $\mathbf{H}$  into  $\mathbf{G}$ , i.e.  $f_y \in \mathscr{C}(\mathbf{G}^{\mathbf{H}})$ . Further, if  $x \in H$  is any element and  $y_1, y_2, y_3 \in K$ ,  $(y_1, y_2, y_3) \in E^=$ , then  $((x, y_1), (x, y_2), (x, y_3)) \in \mathscr{R}(\mathbf{H}, \mathbf{K})^=$ , thus  $(f(x, y_1), f(x, y_2), f(x, y_3)) \in C^=$ , i.e.  $(f_{y_1}(x), (x, y_2), (x, y_3)) \in \mathscr{R}(\mathbf{H}, \mathbf{K})^=$ .  $f_{y_2}(x), f_{y_3}(x) \in C^=$  which means  $(f_{y_1}, f_{y_2}, f_{y_3}) \in \mathscr{R}(\mathbf{G}^{\mathbf{H}})$ . In other words, the assignment  $y \to f_y$  is a homomorphic mapping of **K** into  $\mathbf{G}^{\mathbf{H}}$ , i.e. an element of  $\mathscr{C}((\mathbf{G}^{\mathbf{H}})^{\mathbf{K}})$ . Denote it by  $\varphi(f)$ , i.e.  $\varphi(f)(y) = f_y$  for  $f \in \mathscr{C}(\mathbf{G}^{\mathbf{H},\mathbf{K}})$  and  $y \in K$ . Then  $\varphi : \mathscr{C}(\mathbf{G}^{\mathbf{H},\mathbf{K}}) \to \mathscr{C}((\mathbf{G}^{\mathbf{H}})^{\mathbf{K}})$ ; we show that  $\varphi$  is an isomorphism of  $\mathbf{G}^{\mathbf{H},\mathbf{K}}$  into  $(\mathbf{G}^{\mathbf{H}})^{\mathbf{K}}$ . If  $f, g \in \mathscr{C}\mathbf{G}^{\mathbf{H},\mathbf{K}}$ ) and  $f \neq g$ , then  $f(x, y) \neq g(x, y)$  for some  $(x, y) \in H \times K$ , i.e.  $f_y(x) \neq g_y(x)$  for some  $y \in K$  and some  $x \in H$ , i.e.  $f_y \neq g_y$  for some  $y \in K$  which shows that  $\varphi$  is an injection. If  $(f, g, h) \in \mathscr{R}(\mathbf{G}^{\mathbf{H},\mathbf{K}})^=$ , then  $(f(x, y), g(x, y), h(x, y)) \in C^=$  for any  $(x, y) \in \mathbb{C} \in H \times K$ , thus  $(f_y(x), g_y(x), h_y(x)) \in C^=$  for any  $x \in H$  and any  $y \in K$ , which means  $f(f_y, g_y, h_y) \in \mathscr{R}(\mathbf{G}^{\mathbf{H}})^{=}$  for any  $y \in K$  and  $(\varphi(f), \varphi(g), \varphi(h)) \in \mathscr{R}((\mathbf{G}^{\mathbf{H}})^{\mathbf{K}})^{=}$ . Conversely,  $(\varphi(f), \varphi(g), \varphi(h)) \in \mathscr{R}((\mathbf{G}^{\mathbf{H}})^{\mathbf{K}})^{=}$  implies  $(f, g, h) \in \mathscr{R}(\mathbf{G}^{\mathbf{H},\mathbf{K}})^{=}$  and  $\varphi$  is an isomorphism of  $\mathbf{G}^{\mathbf{H},\mathbf{K}}$  into  $(\mathbf{G}^{\mathbf{H}})^{\mathbf{K}}$ .

### REFERENCES

Birkhoff, G.: An extended arithmetic. Duke Math. Journ. 3 (1937), 311-316
Birkhoff, G.: Generalized arithmetic. Duke Math. Journ. 9 (1942), 283-302.
Novák, V.: Cyclically ordered sets. Czech Math. Journ. 32 (1982), 460-473.

V. Novák

Department of mathematics, J. E. Purkyně university 662 95 Brno, Janáčkovo nám. 2a Czechoslovakia